BBS-DNG DN3-DN40

TexHn4yeckne xapakTepucTUKm

Mo Bonpocam npoaax U noaaepxku odpaLlanTech:

Anmartbl (7273)495-231 KasaHb (843)206-01-48 HoBoky3HeLk (3843)20-46-81 CmoneHck (4812)29-41-54
ApxaHrenbck (8182)63-90-72  KanunuHrpap (4012)72-03-81 HoBocubupck (383)227-86-73 Coum (862)225-72-31
ActpaxaHb (8512)99-46-04 Kanyra (4842)92-23-67 Owmck (3812)21-46-40 CraBponosb (8652)20-65-13
BapHrayn (3852)73-04-60 Kemepogo (3842)65-04-62 Open (4862)44-53-42 CypryT (3462)77-98-35
Benropop (4722)40-23-64 Kupos (8332)68-02-04 OpeHbypr (3532)37-68-04 Teepsb (4822)63-31-35
BpsHck (4832)59-03-52 KpacHogap (861)203-40-90 MMeH3a (8412)22-31-16 Tomck (3822)98-41-53
Bnagueoctok (423)249-28-31  KpacHosipck (391)204-63-61 Mepmb (342)205-81-47 Tyna (4872)74-02-29
Bonrorpag (844)278-03-48 Kypck (4712)77-13-04 PocrtoB-Ha-[loHy (863)308-18-15  TromeHb (3452)66-21-18
Bonoraa (8172)26-41-59 Nvneuk (4742)52-20-81 Ps3aHb (4912)46-61-64 YnbsHoBCK (8422)24-23-59
BopoHex (473)204-51-73 MarHuToropck (3519)55-03-13 Camapa (846)206-03-16 Ydpa (347)229-48-12
ExatepuH6bypr (343)384-55-89  Mocksa (495)268-04-70 Cankr-MeTepbypr (812)309-46-40  Xabaposck (4212)92-98-04
MBaHoBo (4932)77-34-06 MypmaHck (8152)59-64-93 Capartos (845)249-38-78 YensbuHck (351)202-03-61
WxeBck (3412)26-03-58 HabepexHble YenHbl (8552)20-53-41  Ceactonons (8692)22-31-93 Yepenosel (8202)49-02-64
WpkyTck (395)279-98-46 Hwknuin Hosropog (831)429-08-12 Cumdeponons (3652)67-13-56 fApocnaens (4852)69-52-93

Poccus (495)268-04-70 Kupruans (996)312-96-26-47 KasaxcraH (7172)727-132
bho@nt-rt.ru || https://bohmer.nt-rt.ru/


mailto:bho@nt-rt.ru
https://bohmer.nt-rt.ru/

KUGELHAHNE
BALL VALVES

| QOHMER
o 8BS/ DNG

LOW PRESSURE-THREE-WAY
BALL VALVE WITH THREADED PORTS

DN3-40 | PN25

MATERIALS INFORMATION OPTIONS
MATERIALS PN DN 3-Way-Ball Valve with threaded ports /11 Special designs on request
/// Construction with Zero-Position
Body 25 3-40 Steel
/// The lever is included
3 Stainless steel R
Brass,
B 420 hard chromed
Ductileiron, hard
Ball 25-40 chromed '
Sealings 2 340 PTFE 3
0-Rings 25 3-40 FPM 0
0 0
31 31
7 7
DN ODPipe PN D i L B l h h2 D H I\ IV Order No. § Order No.
Connection [mm] [mm] [bar] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] DNGL DNGT
b4 6 25 M12x15 10 102 70 55 415 26 6,5 73 205 16 20 0181368 0181336
6 8 25 M14x1,5 10 102 70 55 475 26 6,5 73 205 16 2,0 0181369 0181337
8 10 25 M16x15 1 14 80 65 53 30 6,5 75 205 16 30 0181370 0181338
g‘,m 10 12 25 M18x15 n 114 80 65 53 30 6,5 75 205 16 3,0 0181371 0181339
;..“'..; 5 12 15 25 M22x15 12 136 100 80 60 35 9 80 205 16 45 0181372 0181340
s2 16 18 25 M26x1,5 12 136 100 80 60 35 9 80 205 16 45 0181373 0181341
-g ;- 20 22 25 M30x2 14 149 110 85 12 425 9 85 300 16 7,0 0181374 0181342
E‘ T 2 28 25 M36x2 14 170 130 105 85 415 11 95 350 22 8,0 0181375 0181343
g _=: 32 35 25 M45x2 16 198 150 115 95 52,5 1 100 350 22 10,5 0181376 0181344
A 2 2 40 42 25 M52x2 16 238 190 150 110 57,5 14,5 110 350 22 20,0 0181377 0181345
4 8 25 M16x1,5 12 106 70 55 475 26 6,5 73 205 16 2,0 0187001 0186992
6 10 25 M18x1,5 12 106 70 55 415 26 6,5 73 205 16 2,0 0187000 0186991
g‘, [ 8 12 25 M20x15 12 116 80 65 53 30 6,5 75 205 16 3,0 0186999 0186990
;..“'..; g 10 14 25 M22x15 14 120 80 65 53 30 6,5 75 205 16 30 0186998 0186989
sa 12 16 25 M24x15 14 140 100 80 60 35 9 80 205 16 45 0186997 0186988
g _i‘; 16 20 25 M30x2 16 144 100 80 60 35 9 80 205 16 45 0186996 0186987
E- ﬁ 20 25 25 M36x2 18 157 110 85 72 42,5 9 85 300 16 70 0186995 0186986
g s 25 30 25 M42x2 20 182 130 105 85 415 n 95 350 22 80 0186994 0186984
i 2 2 32 38 25 M52x2 22 210 150 115 95 52,5 11 100 350 22 10,5 0186993 0186982
3 - 25 G 1 55 45 35 32 18 55 45 90 8 0,8 0181378 0181346
b - 25 G 12,5 82 70 55 415 26 6,5 73 205 16 20 0181379 0181347
6 - 25 G 12,5 82 70 55 475 26 6,5 73 205 16 2,0 0181380 0181348
8 - 25 G 12,5 92 80 65 53 30 6,5 75 205 16 30 0181381 0181349
10 - 25 G % 12,5 92 80 65 53 30 6,5 75 205 16 3,0 0181382 0181350
- 12 - 25 G 15 13 100 80 60 35 9 80 205 16 45 0181383 0181351
g 16 - 25 G'h 15 13 100 80 60 35 9 80 205 16 45 0181384 0181352
% f § 20 - 25 G s 18 129 110 85 72 42,5 9 85 300 16 70 0181385 0181353
7 TE“ S 25 25 G1 19 151 130 105 85 41,5 1 95 350 22 8,0 0181386 0181354
f g 32 - 25 61 20 172 150 15 95 52,5 1 100 350 22 10,5 0181387 0181355
l 83 - 25 G1% 23 206 190 150 110 57,5 14,5 110 350 22 20,0 0181388 0181356

All information subject to change and error



Mo Bonpocam npoaax U noaaepxku odpaLlanTech:

Anmartbl (7273)495-231 KasaHb (843)206-01-48 HoBoky3HeLk (3843)20-46-81 CmoneHck (4812)29-41-54
ApxaHrenbck (8182)63-90-72  KanunuHrpap (4012)72-03-81 HoBocubupck (383)227-86-73 Coum (862)225-72-31
ActpaxaHb (8512)99-46-04 Kanyra (4842)92-23-67 Owmck (3812)21-46-40 CraBponosb (8652)20-65-13
BapHayn (3852)73-04-60 Kemepogo (3842)65-04-62 Open (4862)44-53-42 CypryT (3462)77-98-35
Benropop (4722)40-23-64 Kupos (8332)68-02-04 OpeHbypr (3532)37-68-04 Teepb (4822)63-31-35
BpsHck (4832)59-03-52 KpacHogap (861)203-40-90 MMeH3a (8412)22-31-16 Tomck (3822)98-41-53
Bnagueoctok (423)249-28-31  KpacHosipck (391)204-63-61 Mepmb (342)205-81-47 Tyna (4872)74-02-29
Bonrorpag (844)278-03-48 Kypck (4712)77-13-04 PocrtoB-Ha-[loHy (863)308-18-15  TromeHb (3452)66-21-18
Bonoraa (8172)26-41-59 Nvneuk (4742)52-20-81 Ps3aHb (4912)46-61-64 YnbsHoBCK (8422)24-23-59
BopoHex (473)204-51-73 MarHutoropck (3519)55-03-13 Camapa (846)206-03-16 Ydha (347)229-48-12
ExatepuH6bypr (343)384-55-89  Mocksa (495)268-04-70 CankT-MeTepbypr (812)309-46-40  Xabaposck (4212)92-98-04
MBaHoBo (4932)77-34-06 MypmaHck (8152)59-64-93 Capartos (845)249-38-78 YensbuHck (351)202-03-61
WxeBck (3412)26-03-58 HabepexHble YenHbl (8552)20-53-41  Ceactonons (8692)22-31-93 Yepenosel (8202)49-02-64
WpkyTck (395)279-98-46 Hwknuin Hosropog (831)429-08-12 Cumdeponons (3652)67-13-56 fApocnaens (4852)69-52-93

Poccus (495)268-04-70 Kupruans (996)312-96-26-47 KasaxcraH (7172)727-132
bho@nt-rt.ru || https://bohmer.nt-rt.ru/


mailto:bho@nt-rt.ru
https://bohmer.nt-rt.ru/

